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| can solve one an(Ttwo-step equations

When solving equations, you will
need to use inverse, or opposite
operations to isolate the variable.

Inverses:

o Addition is S'%%ggﬂon
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Tue-Jep
Equalions

To solve a Two-Step Equitation:

1. Draw a line through the equal sign to show balance.
2. Undo the Addition/Subtraction (to remove the constant term)
3. Undo the Multiplication/Division (to remove the coefficient)
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| can solve multi-step equations with variables on one side of the equation.

Comfiningy
Like Toyms

(see Slide-Share
presentation)

“Like terms” are terms that contain the same letter variables which are
raised to the same exact powers. Only the first number “coefficients” of the

terms are different.

Example:
3hand-h YES - letters the same (~h = "1h)

5p2q°® and -4p%q® YES - letters & powers same

Non-Example
4g and 4h NO - letter variables are different.

2x%y® and 2x%y> NO -y powers are different.

Consider the following take-away meal:
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Write an equation to show your meal order, and then combine like terms.
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Solve for the variable in each of the following equations

7xl+ 2x|— 5’+ x/ 2x)+9 =45 °

X

= 5]» 9xl— 3=-48

8’xw=l5 -8x‘;/g;:qgg
2y % gxP (s
12 =|—2x’+ 10, +8x<10 9x{# 12f ZxI— g+ 7x =21
12 = Lx 14y + =2
2= X 14 =28
i

You can use the distributive property to simplify expressions. To distribute, multiply
the term on the outside of the parentheses to both terms on the inside of

parentheses.
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HxeB 3x-15 | —14x+35 | 1lbx-Y0




Equalions
wWilfy

variokles v
ONE STVE

26-x)=9 3x — Tx — 8 = 24
18-2x = 9 —Yx -8 =24
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Solve for x and then find the measure of each missing angle.
m b 5x° | (3x+ 12)° - LH' 5)( -l-x.\.zzla)
B(apy \ 3C2)+ Lax+b.- ‘80
W@“mmmﬁ 105 a6 bx= l7‘l
Aveles S
TR 3xx 2t5x=150
Ex+l2=1¥0
2 A\b Bx =168
Supplementary angle i -3 LY
aSalVA|




| can solve equations with variables on both sides of the equal sign.
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Exiplnalion

e How many blocks are in one bag?

loag= (oblocks

e Write the original problem as an
equation, using a variable.

3x+l=2x4 /

e Solve the equation you wrote
algebraically.
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SOLVING
MULTI- STEP
EQUATIONS

STEPS:

1. Move all of the variables to the same side (inverse operations)
2. Add or subtract the constant to get the term with the variable alone.

3. Multiply or divide to finish solving.

x—6=>5x+10
-b=YxtIO
“lo=Yx
Y= X

2x—7=-5x+14
7X-1= 14

TIX= 2]
=3




How are Teddy and
Topher’s solution
strategies the same?

Consider the equation:

5x+3 =2x+5

Teddy and Topher each solved the equation in a different way. Analyze their solution

How are they strategies.
Different?
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Use multi-step equations to solve for the variable. What is the value of the missing angle?
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DON'T FORGET...
Alternate Interior
Angles are Congruent

Corresponding Angles
are Congruent

-1+ 14x/

Y

\

Y

A
A 4

Y

A

A 4

6x

-

A

1.
|

12x+ 17
12CN+ N =125"°

= 419%x= "x+17
-1+2x =11
X =138

X=9

A

A 4

5x+10
SU0)+0= 6

LDX =Sx+I0
X=1D




I can solve multi-step equations with distribution and combining like terms on both sides of the equal sign.

SOLVING
Conmple
MULTI-
STep
EQUATIONS

DO IHAVE To DISTRBUTE?
2+5(x*3)-3(x-Y)=x+2(2x+4)

Combine, Like Termg
WARJ;J |'N_C-; :s (Some Side

DOIHAVE VARIABLES ONBOTHSIDES? -
2%+29 = Sx+8

Mulh the_number
outside -l'he af‘enﬂv&se.s
with eachferm inside.

DOIHAVE TO CLEAN UP?
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IS'IHEVARIABLE ISOLATED?
% 29=3x+8

ISTHE VARIABLE MLLTPLH)'?
=

"Dlvide or multiply
~ gef variable b7' n‘SeH‘

2%=3(x+10)+|==1+2(x+7) =6(x=9)=2x+4(x-20)
2X“3)(—30+| = -+ 2x+ 14 X—(lox+ 30= 2x+4x-30
~X=29=2x+13 —Sx +30=(Lx—8D
-29=2x+13 _
._L|2= 2§(+ |30—-’ “ )(—80
2l =y 10 = (ly
1+5(7+3x) = 12x+Sx | %*2(2x*3)-1 = 3 (ix+28)
l+35+1Sx= |y X+ Ixtl-1 = 21y
3+ISx=1Tx SX+5 = 2x +IY
30 = 2x 3x+5= Y
I = x 3Ix=9
X=13




